

# Use The Laplace Transform To Solve The Given System Of Differential Equations. $\frac{dx}{dt} = XY$ $\frac{dy}{dt} = 2x$

Use The Laplace Transform To Solve The Given System Of Differential Equations.  $\frac{dx}{dt} = XY$   $\frac{dy}{dt} = 2x$

---

## Introduction

Differential equations form the backbone of mathematical modeling in various scientific and engineering disciplines. When dealing with systems of differential equations, especially those involving multiple variables and derivatives, finding solutions analytically can be challenging. The Laplace transform is a powerful tool to simplify and solve such systems efficiently. In this article, we will explore how to apply the Laplace transform to solve the specific system:

$$\begin{cases} \frac{dx}{dt} = XY, \\ \frac{dy}{dt} = 2X \end{cases}$$

by systematically transforming and solving these equations step-by-step.

---

## Understanding the System of Differential Equations

Before applying the Laplace transform, it is important to understand the structure and nature of the given system:

$$\begin{cases} \frac{dx}{dt} = XY \\ \frac{dy}{dt} = 2X \end{cases}$$

Key observations:

- The first equation is nonlinear due to the product  $(XY)$ .
- The second equation is linear in  $(X)$ .
- Both equations are coupled, meaning  $(X)$  and  $(Y)$  depend on each other.

## Challenges in Solving the System

The main difficulty arises from the nonlinear term  $(XY)$ . Standard methods for linear systems are not directly applicable. However, the Laplace transform, combined with substitution techniques, can simplify the process.

---

## Step 1: Analyzing and Simplifying the System

To utilize the Laplace transform effectively, it's often helpful to convert

the system into a form that isolates derivatives and enables the use of algebraic manipulation.

Observation:

From the second equation:

$$\left[ \frac{dY}{dt} = 2X \right]$$

which suggests  $X$  can be expressed in terms of the derivative of  $Y$ :

$$\left[ X = \frac{1}{2} \frac{dY}{dt} \right]$$

Substituting this into the first equation:

$$\left[ \frac{dX}{dt} = XY \right]$$

becomes:

$$\left[ \frac{d}{dt} \left( \frac{1}{2} \frac{dY}{dt} \right) = \left( \frac{1}{2} \frac{dY}{dt} \right) Y \right]$$

which simplifies to:

$$\left[ \frac{1}{2} \frac{d^2Y}{dt^2} = \frac{1}{2} \frac{dY}{dt} \cdot Y \right]$$

or,

$$\left[ \frac{d^2Y}{dt^2} = \frac{dY}{dt} \cdot Y \right]$$

This is a second-order nonlinear differential equation in  $Y(t)$ :

$$\left[ \boxed{\frac{d^2Y}{dt^2} = Y \frac{dY}{dt}} \right]$$

---

## Step 2: Transforming the Nonlinear Equation

The nonlinear equation:

$$\left[ \frac{d^2Y}{dt^2} = Y \frac{dY}{dt} \right]$$

can be approached by substitution. Let:

$$P = \frac{dY}{dt}$$

then:

$$\frac{dP}{dt} = Y P$$

which is a first-order differential equation in  $(P)$ :

$$\frac{dP}{dt} = Y P$$

But since  $(P = \frac{dY}{dt})$ , this suggests a relationship between  $(Y)$  and  $(P)$ . To proceed, we can write:

$$\frac{dP}{dt} = Y P$$

which can be viewed as:

$$\frac{dP}{dt} = P \cdot Y$$

---

### Step 3: Using the Chain Rule to Simplify

Since  $(P = \frac{dY}{dt})$ , and  $(Y)$  is a function of  $(t)$ , the derivative of  $(P)$  with respect to  $(t)$  can be expressed as:

$$\frac{dP}{dt} = \frac{dP}{dY} \cdot \frac{dY}{dt} = \frac{dP}{dY} \cdot P$$

Substituting into the earlier equation:

$$\frac{dP}{dY} \cdot P = Y P$$

Dividing both sides by  $(P)$  (assuming  $(P \neq 0)$ ):

$$\frac{dP}{dY} = Y$$

This is a straightforward ordinary differential equation:

$$\frac{dP}{dY} = Y$$

which integrates directly:

$$P = \frac{Y^2}{2} + C_1$$

Recall that:

$$P = \frac{dY}{dt}$$

So,

$$\frac{dY}{dt} = \frac{Y^2}{2} + C_1$$

---

Step 4: Solving the First-Order ODE for  $(Y(t))$

The equation:

$$\frac{dY}{dt} = \frac{Y^2}{2} + C_1$$

is a separable differential equation.

Case 1:  $(C_1 = 0)$

$$\frac{dY}{dt} = \frac{Y^2}{2}$$

which rearranges as:

$$\frac{dY}{Y^2} = \frac{1}{2} dt$$

Integrating both sides:

$$\int \frac{dY}{Y^2} = \frac{1}{2} \int dt$$

$$-\frac{1}{Y} = \frac{t}{2} + C_2$$

solving for  $(Y(t))$ :

$$Y(t) = -\frac{1}{\frac{t}{2} + C_2}$$

Case 2:  $(C_1 \neq 0)$

The integral becomes:

$$\int \frac{dY}{Y^2} + C_1 = t + C_3$$

which depends on the sign of  $(C_1)$ .

---

Step 5: Expressing  $(X(t))$  in Terms of  $(Y(t))$

Recall:

$$X = \frac{1}{2} \frac{dY}{dt}$$

From the solution for  $(Y(t))$ , we can differentiate to find  $(X(t))$ .

For example, in the case  $(C_1 = 0)$ :

$$Y(t) = -\frac{1}{\frac{t}{2} + C_2}$$

then,

$$\frac{dY}{dt} = -\frac{d}{dt} \left( \frac{1}{\frac{t}{2} + C_2} \right) = -\left( -\frac{1}{(\frac{t}{2} + C_2)^2} \right) \cdot \frac{1}{2} = \frac{1}{2(\frac{t}{2} + C_2)^2}$$

and

$$X(t) = \frac{1}{2} \times \frac{1}{2(\frac{t}{2} + C_2)^2} = \frac{1}{4(\frac{t}{2} + C_2)^2}$$

---

Applying the Laplace Transform

While the above approach provides explicit solutions, the original goal was to demonstrate how to use the Laplace transform to solve the system. Let's now focus on the direct application of Laplace transforms to the original coupled equations.

---

Step 6: Applying Laplace Transform to the System

Given:

$$\frac{dX}{dt} = XY, \quad \frac{dY}{dt} = 2X$$

with initial conditions  $X(0) = X_0$  and  $Y(0) = Y_0$ .

Note: The nonlinear term  $XY$  complicates direct Laplace transform application. However, by using initial conditions and substitution, we can approximate or reduce the system.

---

### Step 7: Transforming the Equations

Applying Laplace to the second equation:

$$\mathcal{L}\left\{\frac{dY}{dt}\right\} = \mathcal{L}\{2X\}$$

which yields:

$$sY(s) - Y_0 = 2X(s)$$

or,

$$2X(s) = sY(s) - Y_0$$
$$X(s) = \frac{1}{2} [sY(s) - Y_0]$$

Similarly, the first equation:

$$\frac{dX}{dt} = XY$$

becomes:

$$sX(s) - X_0 = \mathcal{L}\{XY\}$$

But because  $XY$  is a product of functions, the Laplace transform of  $($

## Frequently Asked Questions

### What is the first step to solve the system of differential equations using Laplace transforms?

The first step is to take the Laplace transform of both equations, converting the derivatives into algebraic expressions involving the Laplace variable  $s$ .

### How do you handle the initial conditions when applying Laplace transforms to the system?

Initial conditions are incorporated by taking the Laplace transform of

derivatives, which introduces initial value terms (e.g.,  $X(0)$  and  $Y(0)$ ), into the algebraic equations.

**What is the Laplace transform of  $Dx/Dt = XY$ , and how is it handled?**

The Laplace transform of  $Dx/Dt$  is  $sX(s) - X(0)$ . Since  $XY$  is a product of functions, it is typically managed using Laplace transform convolution or assumptions if specific forms are known.

**Given the non-linear term  $XY$ , how can the Laplace transform method be applied to solve this system?**

Because  $XY$  is a product, solving directly is complex; often, substitution methods or linearization techniques are used, or the system is transformed into a simpler form if possible, or numerical methods are employed.

**Are Laplace transforms suitable for solving non-linear systems like the one given, and why?**

Laplace transforms are primarily effective for linear differential equations. For non-linear systems like this, they can be used with approximations, linearization, or combined with other methods, but direct application is limited.

**What assumptions or conditions are necessary to successfully apply Laplace transforms to this system?**

The system should be linear or linearized, initial conditions should be known, and the functions involved should be Laplace transformable. For non-linear systems, additional techniques or approximations are required.

**How do you find the inverse Laplace transform once you have solved for  $X(s)$  and  $Y(s)$ ?**

Once algebraic expressions for  $X(s)$  and  $Y(s)$  are obtained, inverse Laplace transforms are applied—using partial fractions, tables, or complex analysis—to find the functions  $x(t)$  and  $y(t)$ .

**Can you provide an example of initial conditions that might be used in this problem?**

An example would be  $x(0) = x_0$  and  $y(0) = y_0$ , where  $x_0$  and  $y_0$  are known initial values of the variables at  $t = 0$ .

**What are common challenges faced when applying Laplace transforms to non-linear systems like this one?**

Challenges include handling non-linear terms like  $XY$ , which complicate the transform process, and the potential need for approximations or numerical methods since direct solutions are often not feasible.

## Additional Resources

Use The Laplace Transform To Solve The Given System Of Differential Equations is a fundamental technique in solving complex systems of differential equations, especially when initial conditions are specified. The Laplace transform converts differential equations from the time domain into algebraic equations in the complex frequency domain (s-domain), making them easier to manipulate and solve analytically. This method not only simplifies calculations but also provides a systematic framework for handling initial value problems, making it an essential tool in engineering, physics, and applied mathematics.

In this guide, we will explore the process of solving the following system of differential equations using the Laplace transform:

$$\begin{cases} \frac{dX}{dt} = X Y \\ \frac{dY}{dt} = 2X \end{cases}$$

While the system appears nonlinear because of the product  $(X Y)$ , the approach will involve applying the Laplace transform, handling the nonlinear term carefully, and interpreting the solution in the context of initial conditions.

---

### Understanding the System of Differential Equations

Before diving into the Laplace transform, it's crucial to understand the structure and nature of the system:

- The first equation  $(\frac{dX}{dt} = X Y)$  is nonlinear due to the  $(X Y)$  term.
- The second equation  $(\frac{dY}{dt} = 2X)$  is linear in  $(X)$ , but coupled with the first.
- The initial conditions, typically  $(X(0) = X_0)$  and  $(Y(0) = Y_0)$ , are necessary to determine unique solutions.

### Challenges with Nonlinear Systems

The main challenge here is the nonlinear term  $(X Y)$ . The Laplace transform is most straightforwardly applied to linear differential equations, so solving nonlinear systems directly requires some ingenuity, such as substitution or recognizing conserved quantities.

---

### Step 1: Recognize the Type of System

Since the first equation involves the product  $(X Y)$ , it hints at possible substitution strategies or conserved quantities. Noticing that the second equation relates  $(Y)$  to  $(X)$ , we can attempt to reduce the system to a single equation or find relationships between variables.

---

## Step 2: Use the Laplace Transform on the System

Despite the nonlinearity, let's consider applying the Laplace transform to both equations under the assumption of initial conditions.

### Applying the Laplace Transform

Recall that the Laplace transform of a derivative is:

$$\mathcal{L}\left\{\frac{dX}{dt}\right\} = s \mathcal{L}\{X(t)\} - X(0)$$

Similarly for  $\mathcal{L}\{Y(t)\}$ :

$$\mathcal{L}\left\{\frac{dY}{dt}\right\} = s \mathcal{L}\{Y(t)\} - Y(0)$$

Let:

$$\begin{aligned} X(s) &= \mathcal{L}\{X(t)\} \\ Y(s) &= \mathcal{L}\{Y(t)\} \end{aligned}$$

Applying these to our equations:

$$\begin{aligned} s X(s) - X_0 &= \mathcal{L}\{X Y\} \\ s Y(s) - Y_0 &= 2 X(s) \end{aligned}$$

The second equation is linear and can be rearranged as:

$$s Y(s) - Y_0 = 2 X(s) \implies Y(s) = \frac{Y_0}{s} + \frac{2}{s} X(s)$$

This expresses  $\mathcal{L}\{Y(t)\}$  in terms of  $\mathcal{L}\{X(t)\}$ .

### Handling the Nonlinear Term $\mathcal{L}\{X Y\}$

The main difficulty lies in  $\mathcal{L}\{X Y\}$ . Since it's a product of two functions in the time domain, its Laplace transform is a convolution:

$$\mathcal{L}\{X Y\} = (X Y)(s) = \int_0^{\infty} X(\tau) Y(t - \tau) d\tau$$

But convolution in the Laplace domain is complicated unless  $\mathcal{L}\{X(t)\}$  and  $\mathcal{L}\{Y(t)\}$  are known. Alternatively, if the system admits a substitution or an invariant, we might proceed more straightforwardly.

---

Step 3: Find an Invariant or Substitution to Simplify

Given the structure, observe the second equation:

$$\frac{dY}{dt} = 2X$$

Differentiating the first equation:

$$\frac{d^2X}{dt^2} = \frac{d}{dt}(XY) = \frac{dX}{dt}Y + X \frac{dY}{dt}$$

Substitute  $\left(\frac{dX}{dt} = XY\right)$  and  $\left(\frac{dY}{dt} = 2X\right)$ :

$$\frac{d^2X}{dt^2} = (XY)Y + X(2X) = XY^2 + 2X^2$$

Expressed in terms of  $(X)$  and  $(Y)$ , but this still involves both variables.

Alternatively, notice that from the second equation:

$$\frac{dY}{dt} = 2X \implies X = \frac{1}{2} \frac{dY}{dt}$$

Substitute into the first equation:

$$\frac{dX}{dt} = XY = \left(\frac{1}{2} \frac{dY}{dt}\right)Y$$

But  $\left(\frac{dX}{dt}\right)$  can be expressed as:

$$\frac{dX}{dt} = \frac{1}{2} \frac{d^2Y}{dt^2}$$

Thus:

$$\frac{1}{2} \frac{d^2Y}{dt^2} = \left(\frac{1}{2} \frac{dY}{dt}\right)Y$$

Multiply both sides by 2:

$$\frac{d^2Y}{dt^2} = \frac{dY}{dt} \cdot Y$$

This is a second-order nonlinear differential equation for  $(Y(t))$ :

$$\boxed{\frac{d^2Y}{dt^2} = Y \frac{dY}{dt}}$$

\]

---

Step 4: Solve the Reduced Equation

Now, focus on solving:

$$\left[ \frac{d^2 Y}{dt^2} = Y \frac{dY}{dt} \right]$$

Let  $\left( p = \frac{dY}{dt} \right)$ . Then:

$$\left[ \frac{dp}{dt} = Y p \right]$$

Rewrite as:

$$\left[ \frac{dp}{dt} = Y p \right]$$

Since  $\left( p = \frac{dY}{dt} \right)$ , by chain rule:

$$\left[ \frac{dp}{dt} = \frac{dp}{dY} \frac{dY}{dt} = \frac{dp}{dY} p \right]$$

Thus:

$$\left[ \frac{dp}{dY} p = Y p \right]$$

Dividing both sides by  $\left( p \right)$  (assuming  $\left( p \neq 0 \right)$ ):

$$\left[ \frac{dp}{dY} = Y \right]$$

Now, integrate both sides with respect to  $\left( Y \right)$ :

$$\left[ p = \frac{1}{2} Y^2 + C_1 \right]$$

Recall that:

$$\left[ p = \frac{dY}{dt} \right]$$

So:

$$\left[ \frac{dY}{dt} = \frac{1}{2} Y^2 + C_1 \right]$$

This is a first-order differential equation in  $(Y(t))$ :

$$\frac{dY}{dt} = \frac{1}{2} Y^2 + C_1$$

---

Step 5: Integrate to Find  $(Y(t))$

Depending on the initial conditions,  $(C_1)$  can be determined. Assume initial conditions:

$$Y(0) = Y_0$$
$$X(0) = X_0$$

At  $(t=0)$ :

$$p(0) = \frac{dY}{dt}\bigg|_{t=0} = 2 X_0$$

From earlier, we have:

$$p(0) = \frac{1}{2} Y_0^2 + C_1$$

So:

$$2 X_0 = \frac{1}{2} Y_0^2 + C_1 \implies C_1 = 2 X_0 - \frac{1}{2} Y_0^2$$

Now, the differential equation for  $(Y(t))$ :

$$\frac{dY}{dt} = \frac{1}{2} Y^2 + C_1$$

which can be written as:

$$\frac{dY}{dt} = \frac{1}{2} (Y^2 + 2 C_1)$$

Set:

$$A = 2 C_1$$

then:

$$[$$

$$\frac{dY}{dt} = \frac{1}{2} (Y^2 + A)$$

This is a standard Bernoulli-type equation, and its solution depends on the sign of  $A$ .

## **Use The Laplace Transform To Solve The Given System Of Differential Equations**

Use The Laplace Transform To Solve The Given System Of Differential Equations

## **Related Articles**

- [. A Train Takes 2 Hours And 6 Minutes To Get To Madrid. If It Leaves At Quarter To 10 What Time Should](#)
- [What Is The Total Number Of Moles, To The Nearest Tenth, Of Solute Contained In 0. 50 Liter Of 3. 0 M](#)
- [Your Team Is Meeting To Prioritize User Stories For A Coming Iteration. Each Team Member Has A Set Of](#)

[Back to Home](#)